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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Test:

Departmental Test for Officers of the
Cooperative Department - Book - Keeping 057
(Without Books)

Maximum Time: One Hour Maximum Marks: 40

IMPORTANT INSTRUCTION.

OBJECTIVE TYPE
Qamen@Gm sueng eleurm &Gmern

Read the following instructions carefully before beginning to answer the
questions,

eNle&aEns@ el WaNéss ASTLRIGD (P61 SD&sam siflejanysamers
SEURTDMHL! Lilg SHoHayLd.

1‘

This computer based Test contains 40 number of questions in objective
Type.

Abs5s sewneall ol CHieumeargl, 40 Qanaign cusmsuleoner efla@mesamens
Qe mesuIL. &),

Answer all questions. Each question carries one mark
GG AMMESERSGI  ollsml_wefldbsad alourm eoNammeyd @@
OSIAUEES 2 L Wwig).

In case of doubt, English version is the Final.
alienéaeficy FHCHSD @HUlsit gmufer eugelldd Qar@EasULL et
elarnéaGen @mhireans).

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender,

Ay allemaseficd @Lb Qummishen suen uTellans Seuflelr cumjsengseflsy
CoemeauliLigelr, FHESCaHU  CQueam  umellsrgseuflsst  eumjhansHEnLD
SILRIGLD.

Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

aansmiugmiyser saafl alfls Caialmg oloLwelébas QFT_RGLD
(peit  Semileflullett  Feoguiled Comeiimld  Sifleyengsemen  SHeuamomsLl
Ui &&eyLb.

a) One question will be displayed on the screen at a time.

Gy CrrsHev spn el WL HGW SaNafd FHempulsr CamsiTmLD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



1. The root of financial accounting is
Péflenows samsdlen g umLwng el @Geug)

&)

X'

(€)

(D)

Social accounting

Eep&ESE SarTésl e
Stewardship accounting
srflugffsaflen samsdlue

Management accounting
Cueramend sHaurdsiuicy

Responsibility accounting
Curmliy sewrsdlwue

Balance as per bank statement is Rs. 1,000 Cheque deposited, but not yet credited

by the bank is Rs. 2,000. What is the balance as per bank column of the cash book?
cumdl oMsmsulariy @muy em. 1,000, Qegsdug srlsrere @earaud eumdwined
eurey enpsussiiuLngg ¢5.2,000. Qrés glged eumdll ugsduler @l ereusuere?

Rs. 3,000 overdraft M{s. 3,000 favourable
en. 3,000 CGuwé euenrliubmy 5. 3,000 srgawrar @mliy
Rs. 1,000 overdraft (D) Rs. 1,000 favourable
ap. 1,000 Gué aussruupm . 1,000 sngswmer @iy

Accounting eguation signifies

sem&E W FLATUTH @GHLUS

2.
(A)
(©)
3.
(A)
(B)
©)
4.

Capital of a business is equal to assets
sSwrurgsdlen g, dersdlib@ swwneang
Liabilities of a business 1s equal to assets
eflwrurpgdlen Qurminysear, GarsdnE Fowrerg
Capital of a business 1s equal to liabilities
ellwrumrygdlen apged, GUIDIGILSEHEE FOLTAG)

Assets of a business are equal to the total of capital and habilities
ewmungsflen QETsg1Ea6T, (pFHD LHMID GUIMILILSEREE FDIOTEIG)

If the total of the debit side of an account exceeds the total of its credit side, it means

e semaflar ey Qurgssag B uhm Cwrgs Sifswrs GEaUlbler siger GureT

()

Debit balance (B) Credit balance
ubD BEUY aurey GGy
Nil balance (D) Debit and credit balance
ElgpLiber gemenwn ubhm WHID eurey GBIy
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5. TALLY is an example of
TALLY erentug @sbh@ 2-srrewmnons @ ké$lns)

(A4)

Tailor-made accounting software
2 (Heurs&LUC L sewrddlwed Guen@ummer

(B( Ready-made accounting software

)

WSS FemmEdluicr Gwenllummer

In-built accounting software
2 TELLabsslulL samsdlud Garelumper

(D) Customised accounting software
HmsHuerwssul L semsdlwd dwenGlummar
6. Under the written down value method of depreciation, the amount of depreciation is

G@obgE GFd vy panuldd Couwreas Ggraswrearg

(A)
(

©)
D)

Uniform in all the years

Smasg gampaaagn oGy wrdlflwurs Qmesn
Decreasing every year

2@ REHMUD Geomid

Increasing every vear

@ Camyh FasfsEw

None of the above

Gupenflueuphhle ergiesldeansy

7. The business 1s liable to the proprietor of the business in respect of capital

introduced by the person according to
auenllagdler o Mepwwrert @ L psiing, cueflls Himeiead sLaLlgmsdng aaruamss:

O HHSS)
(A) Money measurement concept (B) Cost concept
et LHLSL(HE EBSS) DL &GN MW H(HSS)
Business entity concept (D) Dual aspect concept
cuarflsggallsgenenin Hmss; AuiaLgseanld SMHES)
8. JF means
&.L.eT. eTeilig
(A) Ledger page number mOurnal page number
CuCGr U L&s eredr GMUCGUL_QU uss erehT
(C) Voucher number (D) Order number
Fnenm U erem DY, GOERT GT G
040/DM/24 4



10.

11.

12.

Sales book is used to record

Sipuemer gh erensl ufley Galw 2 seydimg

(A) All sales of goods
Smeansg Fr&Gaetlen oflhLemear
(B) All credit sales of assets

Sdarsg dengg saatlen s_ar oflhLener

M All credit sales of goods
Simaibg FrsGsellen aLer ellbhuemen
(D) All sale of assets and goods

Spasg QFTEgsaeT LOHNID FI&EHT ablhuaman

Expense on advertisement will be classified under
Merwursdpsens Qeiuiou@n Qgrens @eaurm euaslLRSsLILGEDS.

(A) Capital expenditure
sedlarnd GlFavaey

Deferred revenue expenditure
Beéruwesr eugpeumuians GlFwey

(B) Revenue expenditure
au(heuTuiens Glaeey

(D) Capital receipt
aU(meuTUIl&n Guiya]

On 12tk July 2018, Ram draws a bill on Suresh for 1 month, its due date 1s
g9ae 12, 2018 @iy, gmb &Craflid 1 wigsdnG upndu wrbmée F g sTLECsEH

Gadl
14th August 2018
14t g g6vc 2018

(C) 12t August 2018
12th sy savl. 2018

Patent is a
sTuyfeno eTemuigy

(A) Tangible real Alc
Hoerm@h bETggs senés

(C) Personal Alc
SLETHNT & 60T &S,

(B) 15t August 2018
15th oy geiv. 2018
(D) 11th August 2018
11t sy gevi. 2018

Intangible Real A/c
Leaernasné Hensgs semse

(D) Nominal A/c

QuUwIreTeyd Seamds,

040/DM/24
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13. A Bank statement is a copy of
aumiidl sidlsens erarug)

{A} Cash column of the cash book
Qrrés glger Arrasy LusHuldr paE
(B) Bank column of the cash book
Qurés glgen euridll ugHulen paed
M A customer’s account in the bank’s book
cutifl Ysssssldr euTgSnswnarT samsdien Had

(D) Cheques i1ssued by the business
cuarflassnd ellpsaiur L arGsraaulien e

14. Proceeds from issue of shares and debentures 1s an example for
UBIGEET whmib sLT B usdriisear QeueflulllPeuger ppad deLsgh Gsreas g

‘M Capital receipt (B) Revenue receipt
psedlan curey eu(meumulles curey
(C) Capital expenditure (D) Revenue expenditure
psdlens Geaway euHeumSlend Glaaey

15. A credit purchase of furniture from Athiyaman was debited to purchases account.
Which of the following accounts should be debited while rectifying this error?
sfuvrafl blmbs  sLasE Smpsoa  urhidlug  Cerdrupsd  sansdle L)
eeassuL_pearergl. @ulenpaws Fmssw Celwnd Gurg, Spssamieupdler ahss
seméenall LHm eeudss Geuampib.

(A) Purchases account (B) Athiyaman account
QaraTpsed HemTéE, SIEWDTET FHemrd,

( Furniture account (D) Sales account
SBEDECET HERT (S, clibuenen semrés,

16.  Depreciation is the process of
GCaorer auflapeny ererLig)

Allocation of cost of the asset to the period of its useful life
Qarsdlenr L b8 elmaanu, Qergdear Lwarellig st P&s bsEsd

(B) Valuation of assets
Qenggsaamer LHALEH Ceugd

(C) Maintenance of an asset in a state of efficiency
poe Hlaauld Qersdaart urroflgsd

(D) Adding value to the asset
Qergdlen wdGemen iflafssd

040/DM/24 6



17.

18.

19.

20.

The total of the sales book 1s posted periodically to the credit of
ApLener gLligen GLISSD b GHUELL are el eurey emeussiiubhioug

( Sales account (B) Cash account
sl Huene SemTeE Q&S SenTéS,

(C) Purchases account (D) dJournal proper
Qaratepse semas, 2 Au GAUGUE@

Life membership fees is an example of
QWO EHST GUODSI GO

(A) Revenue receipt Mapi’cal recelipt
aumeuruler eurey apSedar cuey

(C) Capital expenditure (D) Revenue expenditure
ameurullens Geeay Wwadlers LFwaey

Which of the following is the first step in the accounting process?
Spaeir_cuhmier serTsdluicilen (pFdLg eTg ?
@/ Identifying the financial transactions
HEulwe gaeaubsmer @D HrERISHED
(B) Transferring the entries from journal to ledger
TOSABWHD WHHID BULS HHSS
(C) Preparation of trial balance
@uumiey gunt Cewged
(D} Preparation of balance sheet
Beuufleoas eiuy surfigsd

One of the limitations of computerized accounting system is

?mu&; semsSwe enuler @eapurRiseild permrearg

System failure (B) Accuracy
seflafll ey Gewadlipsseo gioellwggeseno
(C) Versatility (D) Storage
Legenml LeuenLn Cg&ab
7 040/DM/24
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21. Petty cash may be used to pay
aibs Qewdipans foweap Qrréssdldmbg Car@ssamd?

o

(B)
(©)

)

The expenses relating to postage and conveyance
sUTe QFwey LHMID LwenTs Cswey

Salary to the manager

Guevmenfler eardluib

Purchase of furniture and fixtures
SODERE LOMID QUNIHSE MHEHET GUTES

Purchase of raw materials
PG UTRETEET SUTEIS

22.  When goods are purchased for cash, the entry will be recorded in the
QArrsssdlhe #ré6@ urhidlwens absl UHGauL e udley Qetiw GeuaT@iw.

Cash book (B) Purchase book
Qrrés g Qamerpse ghH
Journal (D) Ledger
2 flu GHLCu GuGn{

23. Wages paid to worker for the installation of a new Machinery should be debited to
@usdrseas Bineeausnars auphidu g, ubm wausstiuL Couemiyw SadE,

(4)

(€)

Wages account y Machinery account
Facdl BaTé @S Qupdlr saTsE;
Factory expenses account (D) Worker’s account
QUGS ClFney saudd, CouenewITL_ &6 HerTdi3,

24. When a firm maintains a simple cash book, 1t need not maintain
gignyam Goras glenl eveusd(mE@ED e Blpeuand, ahs sansoms surthss Gseneu

@icvener?
(A) Sales account in the ledger (B) Purchases account in the ledger
Gulrige sllhuemars sarée, Culriiged QaneTpsd samrss,
(C) Capital account in the ledger M Cash account 1n the ledger
GuCrlige (pse samdHs GCuGriiyed Anrés sawmde
040/DM/24 8



25.

26.

217.

28.

Pre-operative expenses are
cuanfles QFwOLTL Y bHE WhHosw Gaweyser

(A) Revenue expenditure

aumaumWlend GlFaaser
(B) Prepaid revenue expenditure

(eranl 1y Geangdlu aumeuruieans Geweyser
(C) Deferred revenue expenditure

eruwer euheuTuiens Clgaesar
Capital expenditure
walens GFweyser

The financial statements should disclose all material items 1s based on
B4  efiswsier Geaefluurh @upewuregis @@mss Gl eeaTLg ThHS
Sig UL HemwhHEE).

(A) Convention of materiality (B) Convention of prudence
(P& LISSeTenn DT aGenssilsens Y
Convention of disclosure (D) Convention of consistency
pp Qauafiliu@smse wiry Bepavggenel Ly

Rent received 1s an example of

aurLens Gubhng R D STTTSF L6

(A) Capital receipt (B} Capital expenditure
(psdlen auga] Wgedlen GaFeay
Revenue receipt (D) Revenue expenditure
aumeuTuiler eurey aumeuruilen GlFee

Which one of the following is a not timing difference?
Wemreumeauaeupdled ergy sresdemed ghuhid Geumim® e ?

(A) Cheque deposited but not credited
Qegsdw srGarene Blemenild euTey MEUSSLILIL THS)
{(B) Cheque issued but not yet presented for payment
ApHss stGsrena Qerayd Lsqssmasd warallamtuBss UL THg

(C) Amount directly paid into the bank
quhidluler Crrgwing Cequsdlu Agrens

( Wrong debit in the cash book
Qrrés gllgped seuMSRTS LUDD reuSsgl

9 040/DM/24
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29.  Amount spent on Increasing the seating capacity in a cinema hall is
Senqurmdlen Gpsems cusdsamer sifafNuugpats Gupbararetiiul L CFweyser

( Capital expenditure (B) Revenue expenditure
psdlens GFaay sumeunens C&eey

(C} Deferred revenue expenditure (D) Revenue receipt
Beruwes eugheumuiiens Glewey sumeumuen curay

30. When settlement is not made by cash or through bank immediately in a transaction,
it 1s called
@ eueamfls sLeugsmaslledr 2 Lanqurs uewl ufliorpobd  Be dupadematuwefo

3y ———— arendlGpmib.
Credit transaction (B) Cash transaction
LGN BLoUig&Eens QArrés LG &S

(C) Bank transaction (D) None of the above
uidl Loy Ems Cuhsarm_ age|Lbidena

31. Kannan purchases goods worth Rs. 1,00,000 for the purpose of selling. This amount
will be treated as
Apuener Qeiieughers seamemen p. 1,00,000 wdiyedrer Qumplseer Garerapged
Qewiflpri. @&50stens ereueiigw ufle] JauwumHD.

(A) Capital expenditure Revenue expenditure
palen QFawey cuBeuTWer Geae]

(C) Deferred Revenue expenditure (D) Revenue receipt
Beruwer eupeuriien Glsway eupeuriler Cleaweay

32. Sale of goods to Mr. Arun on credit not recorded in the sales book is an
S(HE &G SLIsG APHD F14@ Hbuaer glind ufle) Qe Tss e

Error of complete omission (B) Error of partial omission
o el Sany uGd R Genp

(C) Error of principle (D) None of the above
Qe Genyp @eva erga|fldenen

040/DM/24 10



33.

34.

35.

36.

The liabilities of a business are Rs, 30,000, the capital of the proprietor is Rs. 70,000.
The total assets are

@ eualasdlear Qurmuiiysar e 30,000 o fevwwmenfler epageand . 70,000 erefid
Quwrgs Cemsgsaafler wHiy

(A) Rs. 70,000 M Rs. 1,00,000
5. 70,000 5. 1,00,000

(C) Rs. 30,000 (D) Rs. 40,000
. 30,000 . 40,000

The total purchases book was overcast. Which of the following accounts should be
debited in the rectifying journal entry?

Qametapgsd glgear Cwrsss Cstens HHsLTssE sl L Oul@earergy. @uibepeawus
Amssd Qenwbd Gung, Spssam_apdd apss sansamal UDN meuss CouamHib ?

(A) Purchases account Suspense account
QETATAPFHED FHaTTHE, SNTMDESS SRS,

(C) Creditor account (D) Debtor account
sLBCET sarse LM SR

Expenditure incurred Rs. 50,000 for trial run of a newly installed machinery will be
udlsrs fpeuriu L Gupdrsfaens Cengeven gL b Goplsraraugpars Gaug Gewa)
5. 50,000

(A) Preliminary expense (B) Revenue expenditure
Qsm_se& Cewey umeumlens Glgwa]
Capital expenditure (D) Deferred revenue expenditure
wpsdlens bleaey BarLen aupeuruians Gaeey
Cash book is a
Qs o ¢
(A) Subsidiary book
glener ¢ (h
(B) Principal book
o0
(C) Journal proper
flus @HOGuE

Both Subsidiary book and Principal book
giean g(H LHQD (s gh QrerHib

11 040/DM/24
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37. Cash received from sale of fixed asset 1s credited to
Beaws Gsrgg  ofibuemer eapab  GuplubGnd CQgres by sansdle  aurey

enaussLILBHE DS .

(A) Profit and loss account Fixed asset account
Qe B L& SemEE Blenws Qensg s savsE

(C) Depreciation account (D) Bank account
GauInmend &6, il semTdE

38. Revenue expenditure is intended to benefit
cu(heurulens Glaeellan Laer Sl iLg)

(A) Past period (B) Future period
ELhE sTSHHE erdlt aresdHE
Current period (D) Any period
pLLL s&resdlhE ThsE STasSHEW0

39. The difference of totals of both debit and credit side of trial balance is transferred to
@muumseled upmunsSuliar Gorgsphd urey usHuier Quwrsgapb GaumuiL Td s
a(HSg (s Couadigl HemeE

(A) Trading account (B) Difference account
WITLITT S SHERTaSE, Goumium_ () SewTds,
Suspense account (D) Miscellaneous account
SITMDSF SEMH(E @57 seMES

40. When money is withdrawn from bank, the bank
cuniflGe(mha Lewtd adsEgn Cung ukdluireng

(A) Credits a customer account
UMy SRS WTeTT Samsdld eura| GlFuiuyb

Debits a customer account
QT SanaEwrenT samsded ubm Gaujb
(C) Debits and credits a customer account
Mg sesunart sawsdld ubn wHmb eurey QFuiwb

(D) None of these
GuhHserrL ggidldamea

040/DM/24 12
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Number

DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR OFFICERS OF THE CO-OPERATIVE
DEPARTMENT - BOOK KEEPING

(Without Books)

Maximum Time : 1:30 hours _ . ‘ Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
sfilfleunen eflenLwefla @b cuens eflemmg e

Read the following instructions carefully before begmnmg to answer the
questions.
ellamnésEnss slol wellss AsTm@d ety Spsadrn_ sibeersmer a;susormrras uq.&a;mm

Answers in excess of the prescribed number of questions appeanng at the end of the
answer book will not be valued.

e smar GHOG_Raen aanefsosss adsnrs erpdlublmii e, sﬁ]mpg,grreﬁar ‘Bmdle
2 ¢rem HiHs eramantisansionrar aflen_ser mﬁuﬁ@ QedwuLrg).

In case of doubt, English version is the final.’ _
eflemnssefa #pCsafmindar gube eugeld AsrRasiue Gerer slamssCar Bodwneng.

Answer any EIGHT questions only. : T (8x3=24)
swaCugn e B Camallagnée w G slenweallésayb.

What is Cost accounting?

~

SiLssaloo samsfudler Quimenar efersEs.
What is Bank Reconciliation Statement?
auisdl sftéas Hid Ll gwd eetmrd eTene?
Write a note on Suspense account.
DETIDSHIE S@réE LD @Dy TPFAD. '

What are mnemonic codes?
wHCWT RE @hlapamn eremmre eremen?

[Turn over



5. Mention any three limitations of computerized accounting system.
sanailvwus sansfud geapuldar G@purbsd glsgub apardleens gms.
6. Distinguish between Capital receipt and Revenue receipt.
pseler eurey wHMmID eumaumden eurey — CaupLBE5s.
7. Classify the following items into capital and revenue : -
{a) Registration expenses incurred for the purchase of land

(b) Carriage paid on goods sold
(¢) Legal expenses paid for raising of loans.

Gereumid Gleaellamisansr apgaliar, auhaniens Geaclanmsans sl ILRSSD
() Blod eumiigeugh@ Aainucuce usfriude s eawmb

(1) #7&5 Aanarapgaien Curg Qegisdu gohlFQed & L_amb

(@) sLem Qumeughars Gelwcin L s LF deweysar.

8. Give any three expenses which may be paid by the banker as per the standing
mstruction.
Hene gyflaymssalenuy eunduned Qegssti@upb apeny Geoasmers sma.
9. What is Petty cash book?

SHowenn Qrrés ) erenmmed eTewe?

10. What is Trial balance?
L BLILTUGY TETDTE ETebes ?

II. ©° Answer any THREE questions only. (3 x5=15)
ereneuCGuigniid eipsitm Casnefls@néE wi b elenweflsseyn. '

1. Discuss briefly the branches of Accounting.

samsdweler Ufejsamer &(HEELTSESE Fn)s.

2. From the following information, calculate the amount of depreciation and rate of
depreciation under Straight Line Method
Purchase price of Machine. Rs.2,00,000
Expenses to be capitalized Rs.50,000
Estimated residual value Rs.15,000
Expected useful life 5 years

Epsan.  ssadsmas Osran®. GpiGsmi@ eplo Gsiwras Qstms wLHEOL
Gswioren eldlzn srans.

Qusdre euriudlur cflene £5.2,00,000
apsaTorssIuL. Cauargw Gewa)ser e5.50,000
i ConsEn @nd wdiy ; @.15,000
afli Gpréeh uwerelllys sram 5 QUL BIFET

040/DM/24 2



ITL.

What are the differences between book keeping and accounting?

SarrsGa ) ser uryﬁmﬂuzﬁlﬁ)@m sensEugsew Qe orer Caupurfsdr wimeme ?

Prepare Furniture account from the following transactions 2015.

- Jan 1 Furniture in hand ' Rs.2,000

1 Purchased furniture for cash Rs.4,000
30 Sold furniture : Rs_.400

Aara(mid ‘r_r)l_sﬁiq_ésmesaserﬂcﬁl@‘ﬁjgj 20156r enmEQel samsass swrfléseyb

gereufl 1 eaulid 2 erar ﬂmﬂ)amdﬁ' m.2,000
1  swpswd Qrméssdne amudug  @.4,000
30  swpswd Aips C 5.400

What is deferred revenue expenditure? Explain its features. Give two examples.

Beruwer eumamrars Oswa) aampred odme? SFeT @by samar dlets@gs. @ran(H
2 SRR RIEHET F(HS.

Ansvﬁer any THREE questions only. ' Bx7=21)
sreneuGuign|ih apsimy efleTTssEns@ G el weallssab.

State the nature of accouﬁt and show which account will be credited.
(@) Rent received '

(b) Building purchased

(¢) Machinery sold

(d) Discount allowed

(e) Discount received

.%ggasém_ durhisefien sansdwed garewlloa wmslURSSHE. Jgman Thss sanadd

- upg eurey Qe CeuamRGHDETUMSIILD 6TIpSIS.
- (21). aurLens QupmE

() Sligl 1b euriudwug
(@) Qupdnd efippg
() geT@EnUl. SgdEsg!
(2) ger@pLly AUDDE.

3 - | 040/DM/24
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2. Prepare Bank Reconciliation Statement from the following data and find out the
balance as per cash book as on 315t March 2018. _
Particulars Rs.

1. Balance as per cash book Ny : 15,000
Cheques deposited but not yet credited R 1,000
Cheques issued and entered in the cash book before 315t December 2018
but not presented for payment until that date 1,600

4. Dividend directly received by bank _ ' 200

5. Direct payment made by bank for rent 1,000

6. Locker rent charged by the bank not recorded in cash book 1,200

7. Wrong debit given by the bank on 30t December 2018 500

8. A payment made through net banking has been entered twice in the
cash book _ 300

Qereupd  sHeudselleny  MTE 31, 2018 @b Erens@Nu  eukdlé sfssl Hib
uliquienad gwint Gedg eundl syflsmsulauguirar @mleas sardls.

afeurniser . apumd
1. «urd oflismsdesr ugwrer eukid @mUy ' ' - 15,000
Qs anGsree Getaid arey DUESHILIL TS| : 1,000
3. gewurr 31, 2018 & earent g5 sTCsrema Qrrss gind uduriGuhy
SIbHTET U] GFQsganas@ (panataaliu{ssuuCeldma . 1,500
. aurdwre Crrgwrstt Qubp LkRETSTLD ' 200
5. aumrdwurd Corgurss QegussuCupp um s ‘ | 1,000
6. aund augdlss ungsTuy QULLS aurLas GFnés qliged :
ugwdiu_adidene : 1,200
2018 gewur 30 Sy urdurd GeaiuwululL sapsarar LUby | 5b0
Qoaru and eumbors egisdug Arrés glgd @mepeap udey
Qe g _ ‘ ' 300
- 8. State the advantages and limitations of Written down value method of depreciation.

Goppg  dew  wAuy  weple GCsuiorend sarsflEsdlar  perepHET  WHMID
SODUTHSHET WTenel ? _

4. Bring out the differences between cash discount and trade discount.

Qrrésg panEnUipdEh, HWTLTTS S6TEELIg&ED e arer Ceaugunpsaar erpss.

5. Distinguish between Journal and Ledger
DUCULgerear CUGT . HLrer CapuBsss. -
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